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1) TRADE THEORY

Question No. 1/ Question ID 304 Marks: 2.00
Why cast iron is used to manufacture lathe bed?
HRE AR I T 98 PT AT B & YIS T HRUT AT 52
(A) O Less weight
HH g
(B) O More ductile (Chosen Option)
31 T (Chosen Option)
(C) O Resist corrosion
S&RUT BT YfeRTY FHRal §
(D) O Absorbs vibration (Correct Alternative)
HUT P ARG Hal % (Correct Alternative)

Question No. 2 / Question ID 292 Marks: 2.00
What is placed between the chucks and the lathe bed to prevent damage while mounting and
dismounting of chucks?

Ih P ITd 3R IARA JHY &ffd BT Ah & ot I iR AU 9 & s H 7 [T SI1ell 87
WO Seelpate Glohal iTi YouTube Channel

(B) O Wooden cradle (Correct Alternative)
g@.:r 3 (Correct Alternative)

(C) O Parallel block
AR il

(D) O Angle plate (Chosen Option)
U WiC (Chosen Option)

Question No. 3 / Question ID 106 Marks: 2.00
Which metal is very soft and heavy in sheet metal work?

Yftc Ted & & H S I T Tgd TRH 3R U gt 82
(A) O Lead (Correct Alternative) (Chosen Option)
G (Correct Alternative) (Chosen Option)
(B) O Copper sheet
GIEICAR
(C) O Aluminium

SegHiay

(D) O Blackiron

HI e

Question No. 4 / Question ID 77 Marks: 2.00
Which is an integral part of the stock in vernier bevel protractor?

IR dad Uieaex H Wi &1 U T fgwan & 11 82




(A) O Dial (Correct Alternative) (Chosen Option)
STOd (Correct Alternative) (Chosen Option)
(B) O Blade
S

(C) O Disc

(D) O Main scale
HoT

Question No. 5/ Question ID 143 Marks: 2.00
Which spelter is used for brazing of gold ornaments?

TN P YT BT RIH P oY [ Weer o1 IUANT foba ST 872
(A) O Lead solder
ERSISSH

(B) O Copper solder (Chosen Option)
PR e (Chosen Option)
(C) O Silver solder (Correct Alternative)
e (Correct Alternative)
(D) O Tin lead solder

Question No. 6 / Question ID 192 Marks: 2.00
What is the name of the die that has a slot cut to permit slight variation in size?

waﬁwmw%mﬁ mﬁm@wﬁ%éﬁ%ﬁwwﬁmw%
e i S Global iTi YouTube Channel

(B) O Half die (Chosen Option)
HLIg 31'5c (Chosen Option)
(C) O Circular split die (Correct Alternative)
'\‘@m’\' e 31€ (Correct Alternative)
(D) O Die nut

CIEG

Question No. 7 / Question ID 307 Marks: 2.00

What operation is performed if the tailstock centre is offsetted from the head stock while working between
centres?

e Hal & S HIH B THI CARID % I 88 Wb § BT o ST § < FT SRR o sirar g2
(A) O Step turning operation (Chosen Option)
=T SiTav=H (Chosen Option)
(B) O Parallel turning operation
FHIAR ST SRR
(C) O Taper turning operation (Correct Alternative)
efT sifuv=E (Correct Alternative)

(D) O Threading operation
ST SRR

Question No. 8 / Question ID 118 Marks: 2.00
Which type of tool is used to check the squareness of a surface?

Tdg B! IIHRAI DI Al P & T fhg YHR b IUBRUT BT U 54T SITdT 572




(A) O Standard wire gauge (Chosen Option)
AM® dR 5T (Chosen Option)

(B) O Steelrule
i &d

(C) O Radius gauge

(D) O Try square (Correct Alternative)
IPTAY (Correct Alternative)

Question No. 9 / Question ID 120 Marks: 2.00
Which safety apparel is worn while handling thin sheets?
gdcht e o G T8 B A1 JRET TR Ug-T SIdT 82
(A) O Apron

g
(B) O Leg guards
W IE®
(C) O Cap with sleeves
ST o |1y it
(D) O Hand gloves (Correct Alternative) (Chosen Option)
ey & E{Hﬁ (Correct Alternative) (Chosen Option)

Question No. 10 / Question ID 22 Marks: 2.00
Which marking media is poisonous?

<51 a1 e T e 87
DO e Glohal iTi YouTube Channel

(B) O White wash
CIEECIR

(C) O Copper sulphate (Correct Alternative) (Chosen Option)
PR Tebe (Correct Alternative) (Chosen Option)

(D) O Prussian blue
PIREES

Question No. 11 / Question ID 15 Marks: 2.00
Which hand tool is used to finish the resharpened divider point?
o 81U & 3SR T JUANT G: ci&ul fhy T fEargeR uige & THIW ®3- & fod far Sirar g2
(A) O Oil stone (Correct Alternative) (Chosen Option)
3ATgd T (Correct Alternative) (Chosen Option)
(B) O Grinder
EIESH
(C) O File
pigd
(D) O Scraper

Question No. 12 / Question ID 269 Marks: 2.00
What is the name of the part marked as ‘X’ shown in the figure?
X' Ffgd T &1 8 &1 &7




iTi YouTube Ghannel

(A) O Crown wheel (Correct Alternative) (Chosen Option)
A KedK| (Correct Alternative) (Chosen Option)
(B) O Back plate

(C) O External jaw
ol

(D) O Body
CIS]|

Question No. 13 / Question ID 151 Marks: 2.00
Which arc welding machine provides better heat distribution in the electrode and the job?
B W 3T IS A Faiaers SR Sid H 9gaR drd faaRor UG Hl 82
(A) O Welding transformer
(B) O Engine generator set
EEEASE N R
(C) O Motor generator set (Chosen Option)
e (Chosen Option)

(D) O Rectifier set (Correct Alternative)

e (Correct Alternative)

Question No. 14 / Question ID 13 Marks: 2.00




Which punch is used for withess marks?
fr=T e & fore forw i 1 SuanT fasan ST &2
(A) O Centre punch
JR U
(B) O Bell punch
ERRE)
(C) O Dot punch (Correct Alternative) (Chosen Option)
Sie U™ (Correct Alternative) (Chosen Option)
(D) O Pin punch
ICELE!

Question No. 15/ Question ID 167 Marks: 2.00
Which factor determines the current setting during welding?
AT & R Fie AT HH 1 SRS FAYiRa Ha1 g2
(A) O Length of an electrode
gdaeIS DI AdTg
(B) O Diameter of an electrode (Correct Alternative) (Chosen Option)
Eﬁﬂﬁg d[ MY (Correct Alternative) (Chosen Option)
(C) O Position of the weld
TS Bl

(D) O Types of joint
& UBR

Question No. 16 / Question ID 108 Marks: 2.00

A et e Pt & et o o et TF Y01 Tube Channel

(A) O Seaming (Correct Alternative) (Chosen Option)
[T (Correct Alternative) (Chosen Option)

(B) O Hemming

(C) O Grooving

(D) O Notching
it

Question No. 17 / Question ID 63 Marks: 2.00
Which metal property is beneficial for melting?

frge & forg 1 1 U1 07 wradHe 87
(A) O Structure
fmfor

(B) O Conductivity
dlciehdl
(C) O Fusibility (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(D) O Specific gravity

Question No. 18 / Question ID 83 Marks: 2.00
How can a wide range of depth be measured using a depth micrometer?

ST AISHIHIER T IUTNT HRP TTERTS B! [ATTd SRIAT P b AT Sff Jobal 872




(A) O Adjustable base
RIS S & §RI
(B) O Lengthy spindle
oval RS & gRI
(C) O Use of extension rods (Correct Alternative) (Chosen Option)
Eﬂ'\‘ﬁ?ﬁ T‘fgﬁ P SUINT FRD (Correct Alternative) (Chosen Option)
(D) O Lengthy sleeve
qral Wil & gR]

Question No. 19 / Question ID 313 Marks: 2.00
Which type of pin is shown in the figure?

oz # fog veR o1 o feman mar g2

al iTi YouTube GChannel

(A) O Spring pin
= o=
(B) O Taper pin
SR U
(C) O Split pin (Chosen Option)
fom (Chosen Option)
(D) O Cotter pin (Correct Alternative)
Piex fUA (Correct Alternative)

Question No. 20 / Question ID 255 Marks: 2.00
What is the name of the part marked as 'X’ shown in the figure?

o A femme U o O Rafgd HRT &1 9H |18




(A) O Anvil
eCIT ]

(B) O Steam
*q

(NQ) Pomter (Correct Alternative) (Chosen Option)
UTE'E"\' (Correct Alternative) (Chosen Option)
(D) O Plunger
TIoR

1 YouTuhe Channel

Question No. 21 / Question ID 217

What is the advantage of gauging of components?

geH! P TSN T T ATH 82

(A) O Faster checklng of the product (Correct Alternative)
IS I dF S (Correct Alternative)

(B) O Slower checking
et S

() O E)gpensive
He M

(D) O Skilled operator is required (Chosen Option)
FIA IR BT TIRISH T § (Chosen Option)

Marks: 2.00




Question No. 22 / Question ID 209 Marks: 2.00
What is the use of diamond dresses?
STHS S BT 1 IUTNT 872
(A) O Dressmg and truing of grinding wheel (Correct Alternative) (Chosen Option)
Gﬂ 31%111 3R §§"T (Correct Alternative) (Chosen Option)

B) O Balancmg the grlndlng wheel

G Id B! Adferd Bl
(C)O Holdlng the grinding wheel

CHNICARGRE]
(D) O Guarding the grinding wheel

& B B GRET HAT

Question No. 23 / Question ID 231 Marks: 2.00
What is the maximum limit of size, if the basic size of the hole is 25 mm and the deviation is £ 0.2mm?
e B¢ BT 9% TS 25 mm 3R faTa + 0.2 mm 8 @ 3MHR B 3Hf¥Han feftre o g2
(A) O 25.2 mm (Correct Alternative) (Chosen Option)

25.2 mm (Correct Alternative) (Chosen Option)
(B) O 25.02 mm

25.02 mm
(C)O 24.8mm

24.8 mm

(D) O 24.08 mm
24.08 mm

Question No. 24 / Question ID 228 == r
What is the algebraic difference between the actual S|ﬂlannalrllaur¥u“;[u% Bﬁﬁnnel
JRAfAd MHR 3R TP Gaiferd 9w TS & s ooy 3R o1 87
(A) O Upper deviation (Chosen Option)
31 fdra= (Chosen Option)
(B) O Deviation

(C) O Actual deviation (Correct Alternative)
fa=a@ (Correct Alternative)
(D) O Tolerance

Question No. 25 / Question ID 53 Marks: 2.00

Which metal cutting saw is used for cutting different profiles?
S{ET- T BT Pl Bl o fo1E fard Hed HicT Il w1 SUAIT T Sirar g2
(A) O Contour band saw (Correct Alternative)

e CER (Correct Alternative)
(B) O Circular saw

il

(C) O Power saw (Chosen Option)

BICRES] (Chosen Option)
(D) O Horizontal band saw

BING<d S I

Question No. 26 / Question ID 23 Marks: 2.00




What is the name of the vice shown in the figure?

o o faame U argqg &1 W w82

iTi YouTube Ghannel

(A) O Pinvice
ICBICIES
(B) O AQuick releasing vice
o el argg
(C) O Pipe vice
BIERKCIESS!
(D) O Hand vice (Correct Alternative) (Chosen Option)
dIg¥ (Correct Alternative) (Chosen Option)

Question No. 27 / Question ID 268 Marks: 2.00
What is the name of the specification marked as X’ shown in the figure?

o & Twiiu e ¢ @ Rifgd fafdwr &1 = = 82




(A) O Centre height of lathe

WRIE 3 FeX a1 Global iTi YouTuhe Channel

(B) O Swing diameter
T =g
(C) O Length of the bed
i

(D) O Length between centre (Correct Alternative) (Chosen Option)
&% & dg PI TETg (Correct Alternative) (Chosen Option)

Question No. 28 / Question ID 146 Marks: 2.00
Where is the sweat soldering process applied?
AT oS R UfshdT gl AN foha STt g7
(A) O Body repairing workshops (Correct Alternative)
SISt B IRAT THITY (Correct Alternative)
(B) O Joining of tool bits (Chosen Option)
o 3R ¢d foeq & SiIST (Chosen Option)
(C) O Reworking of ornaments
STYSON HT G: BT
(D) O Electrical soldering work

oS R B

Question No. 29 / Question ID 317 Marks: 2.00
What is the final step in overhauling process?
STaRGITeIT Ufehan T Sifad a=or .1 572
(A) O Inspection (Chosen Option)
fAR1&0T (Chosen Option)




(B) O Testing (Correct Alternative)
Tdteror (Correct Alternative)
(C) O Repair
IR
(D) © Dismantle

Question No. 30 / Question ID 85 Marks: 2.00
Identify the type of drilling machine whose spindle head is moved towards or away from the column.
el 7= & THR &t g &1 s RUSA 88 HIad &1 SR I1 3T g o ST Sl 5 |
(A) O Radial drilling machine (Correct Alternative)

e w=i= (Correct Alternative)
(B) O Sensitive bench drilling machine
Haeeite o fgfe a=iq

) O Qang drilling machine

~

(D) O Pillar drilling machine (Chosen Option)
HEEIE (Chosen Option)

Question No. 31/ Question ID 34 Marks: 2.00
Which period is referred to as the 'golden hours' for an injured person?
for oraftl &1 arad fad & T e Sifaw’ &gl SITdl 672
(A) O First 30 minutes after incident (Correct Alternative)

eI & dlq & q?ﬁ 30 fiFe (Correct Alternative)

B0 weaas i Global iTi YouTuhe Channel

(C) O First 60 minutes after treatment (Chosen Option)
SUAR & §1¢ & Ugd 60 fiHe (Chosen Option)

(D) O First 30 minutes
U5 30 e

Question No. 32 / Question ID 242 Marks: 2.00

What is the least count of Vernier height gauge if 49 main scale divisions is equally divided into 50 vernier
scale division and 1msd=1mm?

e 49 T T f&dtoml @ 50 IR Thd fedie 3R 1msd=1mm & M ¥4 § fauiora fear srar g, at
IR SaTs 7151 1 gAdH TTUMT T 82
(A) O 0.001 mm

0.001 mm

(B) © 0.002 mm
0.002 mm

(C) O 0.02 mm (Correct Alternative)
0.02 mm (Correct Alternative)

(D) O 0.01 mm (Chosen Option)
0.01 mm (Chosen Option)

Question No. 33 / Question ID 114 Marks: 2.00
Why acid tanks are made of lead sheets?
TRrS ¢ offs 2 I i 991 S 62
(A) O Highly resistant to abrasion
0T & Tl St uforieh




(B) O To protect against oxidation
3fffteror ¥ s & forg

(C) O To avoid leakage
feqra § ¥99 & forg

(D) O To protect against corrosive (Correct Alternative) (Chosen Option)
JURD CEEIEEY ﬁ«m (Correct Alternative) (Chosen Option)

Question No. 34 / Question ID 153 Marks: 2.00

Which welding machine is designed to supply both A.C and D.C current for welding ferrous and non-
ferrous metals using all types of electrode?

B It AT T2 T TPR F IAderS BT IUTIT HReb NG 3R 3cAIE Hgef 3T AT F /U A.C 3R
D.C T YRT3T o1 3MYfef B & forg fSTIe o1 78 72
(A) O Motor generator set
SR T
(B) O Rectifier set (Correct Alternative)
e (Correct Alternative)
(C) O Engine generator set
ESE
(D) O Transformer set (Chosen Option)
' < (Chosen Option)

~

Question No. 35/ Question ID 253 Marks: 2.00
Which part of the vernier micrometer is marked with vernier scale graduation?

IR AgehIHeR BT B I1 U IR Wbt IUH I Fafgd gar 22
(A) O Thimble .
e Glohal iTi YouTuhe Channel

(B) O Barrel (Correct Alternative)
(Correct Alternative)
(C) O Frame
B

(D) O Anvil (Chosen Option)
(Chosen Option)

Question No. 36 / Question ID 201 Marks: 2.00
What is the name of the die shown in the figure ?

fort & Ty U ST &7 8 =1 82




(A) O Die nut (Chosen Option)
ETEC - (Chosen Option)

(B) O Circular split die (Correct Alternative)
MareR e Sﬁ (Correct Alternative)

(C) O Adjustable screw plate die

TSoRedd & Wi 85

©)0 Halfde Global iTi YouTuhe Channel

Question No. 37 / Question ID 50 Marks: 2.00
Which metal property can resist the effect of tensile forces without any rupture?
B T 41 T[0T 1 fobft ge-Te & a=aaT Sl & UHTd T TRy R Jobal 272
(A) O Ductility
SIESSE

(B) O Tenacity (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C) O Malleability

(D) O Elasticity

Question No. 38 / Question ID 191 Marks: 2.00
What is the name of the angle marked as ‘X’ shown in the figure?

o & famme e ) @ RIfgd Wet &1 A9 @ g2




al iTi YouTube GChannel

(A) O Rake angle
P W
(B) O Lip clearance angle (Correct Alternative)
I} @I (Correct Alternative)
(C) O Point angle (Chosen Option)
Uise WA (Chosen Option)
(D) O Chisel angle
EISNAYIS

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 334 Marks: 2.00
What is called mass per unit volume of a substances?
fohft uerd & gogHm ufd 318 SMad & T Hed &2
(A) O Weight
YR

(B) O Mass (Chosen Option)
SIHIF (Chosen Option)

(C) © Volume
HIAd

(D) O Density (Correct Alternative)
Ydd (Correct Alternative)

Question No. 2 / Question ID 330 Marks: 2.00




How many millimetres are there in 1 inch?
139 ¥ fra fiycfitier g1a 87
(A) O 25.4 mm (Correct Alternative) (Chosen Option)
25.4 mm (Correct Alternative) (Chosen Option)
(B) O 24.5mm
24.5 mm

(C)O 2.45mm
2.45 mm

(D) O 2.54 mm
2.54 mm

Question No. 3 / Question ID 339 Marks: 2.00
What is the boiling point of water?
Ot &1 FaYHid 31 gIdl 872
(A) O 0°C (Chosen Option)

0°C (Chosen Option)
(B) O 100°C (Correct Alternative)
100°C (Correct Alternative)
(C) O 32°C
32°C
(D) O 212°C
212°C

Question No. 4 / Question ID 340 s: 2.00
Which is th it of ?
Wrichi he uritf uren Global iTi YouTube Ghanne!

(A) O Ohm
3|

(B) O Ampere (Correct Alternative)
(Correct Alternative)
(C) O Volt (Chosen Option)
(Chosen Option)
(D) O Watt
dic

Question No. 5/ Question ID 328 Marks: 2.00
What are fundamental units?

T8 Q e TTEA BB 2
A) O Length Pressure, Volume
Q’Idls cld , 3Id-
(B) O Length, Mass, Time (Correct Alternative) (Chosen Option)
14T, SodHT, JHY (Correct Alternative) (Chosen Option)
(C) O Length, Mass, Volume
qTg, GoUHM, 3
(D) O Length, Mass, Area

ST, SoHH, SEhd

Question No. 6 / Question ID 341 Marks: 2.00




What is the flow of electrons in any conductor?
bt Heaer H 3AdCH BT UaTE o1 BIdT 372
(A) O Current (Correct Alternative)
YRT (Correct Alternative)
(B) O Power
RIES
(C) O Resistance (Chosen Option)
gfoRIY (Chosen Option)
(D) O Voltage

3) ENGINEERING DRAWING

Question No. 1/ Question ID 369
|dentify the line 'b'?

AR b’ DI Tgd?

(A) O Extension line
foreeiRe e

(B) O Dimension line (Correct Alternative)
ST ¥@1 (Correct Alternative)

Marks: 2.00

YouTuhe Channel




(C) O Termination of dimension line
S{TTH X1 DI JHIGT

(D) O Leader line (Chosen Option)
drex drsd (Chosen Option)

Question No. 2 / Question ID 349 Marks: 2.00
Identify the name of instrument?

3 © oWy 71U IuSHR0N & 19 P UgaH He?

ouTube Ghannel

(A) O 'T'square
& WRR

(B) O French curve
Wi agh

(C) O Setsquare

(D) O Protractor (Correct Alternative) (Chosen Option)
dlql (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 353 Marks: 2.00
|dentify the conventional symbol of material?

T & URURS Udidh ol Ugam?




(A) O Porcelain
9 faredd
(B) O Glass
Hig —
(C) O Steel (Correct Alternative) Glohal ITI vo“T“he channe'
HId (Correct Alternative)
(D) O Lead (Chosen Option)
s (Chosen Option)

Question No. 4 / Question ID 370 Marks: 2.00
|dentify the correct aligned system dimension?

gl R Red M ot UgaH H?
(A) O

(Chosen Option)

(Chosen Option)




(€) O

Global iTi YouTuhe Channel

(Correct Alternative)

(Correct Alternative)

Question No. 5/ Question ID 360
Identify the name of tool?
JUBU T ATH Ugd?

Marks: 2.00




(A) O Ball pein hammer (Correct Alternative)
CIGR iG] %‘FI'{ (Correct Alternative)

(B) O Sledge hammer
W R

(C) O Straight pein hammer (Chosen Option)
e d= _G'QhET (Chosen Option)

(D) O Cross pein hammer

P19 U R

Global iTi YouTuhe Channel

Question No. 6 / Question ID 354
Identify the conventional symbol of material?

Y & URURS Udidh ol Ugdm?

Marks: 2.00




(A) O Wood

(B) O Glass (Correct Alternative) (Chosen Option)
&Id (Correct Alternative) (Chosen Option)

(C) O Steel ==
© Glohal iTi YouTube Channel

(D) O Concrete

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 547 Marks: 2.00

A wireless technology that connects a laptop to the internet is called
T IORAY b1 ol AUeiy Bl Seec Y olisdis dgardial
(A) O Bluetooth (Chosen Option)

&Y (Chosen Option)
(B) O Desktop

Sl
(C) O WiFi (Correct Alternative)

- th"l's: (Correct Alternative)

(D) O Source Network

Question No. 2 / Question ID 427 Marks: 2.00
When someone says 'Thank you' we should reply and say .
e BIS "Thank you (4=dTg) W%a‘rsﬁmﬁaﬁneﬁ? HgT ARyl
(A) O How are you?
3110 B 82
(B) O Thank you.




(C) O You're welcome. (Correct Alternative) (Chosen Option)
STHRT TR % (Correct Alternative) (Chosen Option)

(D) O Bye-bye

Question No. 3 / Question ID 443 Marks: 2.00
Which of the following statements is true?
frafaRed & 9 &F 3 9o f[qavor 9 872
(A) O We need to pursue a course to even solve a simple problem
T U JIURY U &1 8 A & AT off Uoh IR B Pt S1aaaha §
(B) O ltis not important to solve any problem

ot +ft T 1 I SRt TS

(C) O The more problems you solve, the better you will get at problem solving! (Correct
Alternative) (Chosen Option)

3TY foraT St Tuarsii &1 GHIUT ST, AT B Gasi H 319 Id4 g1 dgax gl

(Correct Alternative) (Chosen Option)
(D) O Only experts can solve any problem

faret ot T T IHIUTH A ARV & B TP &

Question No. 4 / Question ID 413 Marks: 2.00
Which one is a “Don’t” of discussion etiquette?
T4 RIFER &1 “Don't’ 872
(A) O Argue unnecessary (Correct Alternative) (Chosen Option)
SFATIRIP 969 P (Correct Alternative) (Chosen Option)
(B) O Be open minded —
fRmT gt T Glohal iTi YouTube Channel
(C) O Listen to others
FRREIR]
(D) O Use moderate tone
HEH TR BT TIRT DY

Question No. 5/ Question ID 389 Marks: 2.00
Choose the correct punctuation mark after the word “Rohan” in the given sentence. “Rohan David and
Ram are playing hide and seek”
ﬁqwaﬁﬂﬁl’l&{ QBIE:I %Wﬂ%ﬁﬁﬂﬂﬁlﬁﬂﬁl“Rohan David and Ram are playing hide and seek”
(A) O Slash (/)

WA (/)
(B) O Period ()
3afd ()
(C) O Hyphen (-)
BIRW (-)
(D) O Comma (,) (Correct Alternative) (Chosen Option)
(,) (Correct Alternative) (Chosen Option)

Question No. 6 / Question ID 586 Marks: 2.00
NAPS Stands for
NAPS &1 Hddd

(A) O National Appointment Promoting Scheme
National Appointment Promoting Scheme




(B) O National Advertising Promotion Scheme
National Advertising Promotion Scheme

(C) O National Apprenticeship Promotion Scheme (Correct Alternative) (Chosen Option)
National Apprenticeship Promotion Scheme (Correct Alternative) (Chosen Option)

(D) O Non Apprenticeship Promotion Scheme
Non Apprenticeship Promotion Scheme

Question No. 7 / Question ID 534 Marks: 2.00
Which one is a search engine?

HH U T4 o1 872
(A) O Face book

(B) O Flicker
BSE
(C) O Google (Correct Alternative) (Chosen Option)
T[T (Correct Alternative) (Chosen Option)
(D) O H\gtmail

Question No. 8 / Question ID 460 Marks: 2.00
In face to face communication, body language accounts for
M- & GaR &, SISl A gt §

(A) O 7% (Chosen Option)
7% (Chosen Option)
(B) O 55% (Correct Alternative) .
55% (Correct Alternative)
00 Global iTi YouTube Channel
100%
(D) O 38%
38%

Question No. 9 / Question ID 540 Marks: 2.00
Which one is the disadvantage of social networking sites?
IS FeafchTT e BT UM S T 82
(A) O Instant communication
GEIREIS]
(B) O Online marketing for business
HMUR & fore 3iiar didb e (fauurH)
(C) O Make addictive (Correct Alternative) (Chosen Option)
dad (Qﬂ 3Tqd) GHEll (Correct Alternative) (Chosen Option)
(D) O Access to information

SHHRI b Ugd

Question No. 10 / Question ID 472 Marks: 2.00
Which one is a good communication?
DI T T DT HAR 672
A) O Message is clear and direct (Correct Alternative) (Chosen Option)
PT I 3R oy I-‘ﬁT-IT (Correct Alternative) (Chosen Option)
(B) O Sender attacks receiver

Uy o1 RAtaR TR §HAT BT




(C) O Receiver doesn't listen to sender
Tl U &1 Tal AT
(D) O Message is ambiguous

T BT 3P BT

Question No. 11 / Question ID 456 Marks: 2.00
For “SMART” Goal, S stands for
“SMART” Td & AT, S &1 AAAG................... g
(A) O Social
Social
(B) O Strength
Strength
(C) O Scientific (Chosen Option)
Scientific (Chosen Option)

(D) O Specific (Correct Alternative)
Specific (Correct Alternative)

Question No. 12 / Question ID 517 Marks: 2.00
The expansion of LAN is
"LAN" T AR & -

(A) O Legal Area Network
Legal Area Network

(B) O Local Area Name
Local Area Name

(C) O Logical Area Network

Logical Area Network
D) O ngcj:I;IaAr:aNeivxor:( (Correct Alternative) ( mt;‘ll vn“T“he cnannel

Local Area Network (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 402 Marks: 2.00
Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her
mischief’

ﬁ'Q T dIg & ﬁ*ﬂ;f SUYad fo=Ivor & 1y RRad I WY “The little girl’s...... eyes revealed her mischief”
(A) O twinkling (Correct Alternative) (Chosen Option)
twinkling (Correct Alternative) (Chosen Option)
(B) O chubby
chubby
(C) O weak
weak

(D) O short sighted
short sighted

Question No. 14 / Question ID 373 Marks: 2.00
A person with a growth mlndset is always willing to

U faep™ HFRYb T arer oafad g9 ... R @A 8l
(A) O grow, change, learn (Correct Alternative) (Chosen Option)
) At (Correct Alternative) (Chosen Option)

(B) O become rich
3{HR &

(C) O relax
SRTH




(D) O keep quiet
ERRGEE:

Question No. 15/ Question ID 553 Marks: 2.00
Entrepreneurship is also termed as

S DI .......... 't 8T ST §
(A) O investor
[RERICY

(B) O employment seeker
RIGHIR dlg- didll

(C) O employer

(D) O self employment (Correct Alternative) (Chosen Option)
W YN (Correct Alternative) (Chosen Option)

Question No. 16 / Question ID 489 Marks: 2.00
Gender stereotypes can be
fo wfearfear gl It g ... |
(A) O playful
EEN]
(B) O harmful and hurtful (Correct Alternative) (Chosen Option)
Gﬁ?gtq'i{lﬂ (Correct Alternative) (Chosen Option)
(C) O cheerful

R
VO R Glohal iTi YouTube Channel
Question No. 17 / Question ID 499 Marks: 2.00
RTlis
RTIZ....|

(A) O Ready To Information
Ready To Information

(B) O Right Tern Information
Right Tern Information

(C) O Read To Information
Read To Information

(D) O Right To Information (Correct Alternative) (Chosen Option)
Right To Information (Correct Alternative) (Chosen Option)

Question No. 18 / Question ID 502 Marks: 2.00
A program that infects other program by modifying them is called

Th THITH, S 3 TRITH P TG BHRb I8 YshHd PIAT S, S ... PHET AT S |




(A) O note pad (Chosen Option)
dc s (Chosen Option)

(B) O antivirus
TarRy

(C) O web page
a9 Ol

(D) O virus (Correct Alternative)
dIay (Correct Alternative)

Question No. 19 / Question ID 560 Marks: 2.00
The enterprises engaged in the production of goods is known as
HIA & I 8 T STHT B ... & 1§ ST STl & |
(A) O manufacturing enterprise (Correct Alternative)
3<IH (Correct Alternative)

(B) © macro enterprises

BT IIH
(C) O service enterprises (Chosen Option)

a1 399 (Chosen Option)
(D) O micro enterprises

3{fd 7Y IR

Question No. 20 / Question ID 379 Marks: 2.00
People from all religions or no religions are treated equally means

Tt el ar ot oft e & <l & Ty I HaeR TE fPa ST .. SegeR &
O R i Global iTi YouTube Ghannel

(B) O democratic
EEGIIEED

(C) O religious (Chosen Option)
eTfH S (Chosen Option)

(D) O secular country (Correct Alternative)

effaRuer (Correct Alternative)

Question No. 21 / Question ID 575 Marks: 2.00
Based on the information that you get through probing, you will be in a better position to make
ST & SR 3MTUP! S THGRI Bl 8, 39D YR TR 3 T Bl B R AN

(A) O Proper product suggestions (Correct Alternative)
3Ifud Idre {Td (Correct Alternative)
(B) O Effective problem solving (Chosen Option)
HTIT FHT JHIY (Chosen Option)
(C) O No Progress
EUIGEE
(D) O Build friendship
EIeh &Y

Question No. 22 / Question ID 381 Marks: 2.00
1st industrial revolution started in

Tgll SN wifd & Lo ... |




(A) O 21st century
21 di gd!
(B) O 18th century (Correct Alternative) (Chosen Option)
18 oY 9t (Correct Alternative) (Chosen Option)
(C) O 19th century
19 df gdl
(D) O 20th century
20 df 9}

Question No. 23 / Question ID 488 Marks: 2.00
How do successful people handle failure?
A TN SRAHEAT Pl b T 82
(A) O They give up their ambitions
3T TR ienatt B @rT 3 B

(B) O They blame others

IR B VAT
(C) O They learn from their mistakes (Correct Alternative) (Chosen Option)

q 3yt Tafaal § HEd %'I (Correct Alternative) (Chosen Option)

(D) O They get demotivated
fEHifede 81 od 5|

Question No. 24 / Question ID 515 Marks: 2.00
In which orientation, the text is printed width wise?

mehﬁn%m (3fufe=ar) ¥, Toe (u1e) TS ar fife (qfgd) gar 32
WO e Glohal iTi YouTuhe Channel

~

(B) O Margin (Chosen Option)
(Chosen Option)
(C) O Width

(D) O Landscape (Correct Alternative)
(Correct Alternative)

Question No. 25 / Question ID 426 Marks: 2.00
Which one of the following is a describing word?
frafeiea & ¥ SF-1 T quiHreTs Tss 82
(A) O soup
RIRET
(B) O hot (Correct Alternative) (Chosen Option)
TRH (Correct Alternative) (Chosen Option)
(C) O repair
HHd

(D) O eat
LG EIREIK]]




